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Performance Notes

This piece is for one percussionist playing 13 different found objects. These objects should all have the
same pitch, although mircotonal variations are possible. Every line in the system represents one object
and they have to be ordered according to their resonance length as shown below:

Those five objects should be arranged in
a way that one can play any two in one hand.
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-El}- indicates dampening of all resonating objects

stems without noteheads indicate a repetition of the previous chord

Duration: 10°
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